
Varicon_M, Accessories

Shunting eye vertical, 1U / Metric

HC000322-2-MI-EN

Installation Manual



Tools

PH-2 PZ-2 SR-1

Components

M5 x 16 (PZ-2) M5 M4 x 10 (SR-1)

ST4 8 x 10 (PH-2)

2 / 8



1

P-
00

07
9-

5/
00

03
22

-2

2

P-
00

07
9-

5/
00

03
22

-2
M5 x 16 (PZ-2)

M5

PZ-2

3 / 8



3

P-
00

07
9-

5/
00

03
22

-2

M4 x 10 (SR-1)

SR-1

4

P-
00

07
9-

5/
00

03
22

-2
ST4 8 x 10 (PH-2)

PH-2

4 / 8



Notes

5 / 8



Notes

6 / 8



Notes

7 / 8



www.minkels.com


